HS
LS

SD



SH

HS

LS

HS
(=80)
LS
(=80)
HS
(=80)
LS

@
(B) ©
(=20)
(1=40) ( =20)
(=20)
(=40) ( =20)
(=20)
( =40) ( =20)
(=20)
( =40) ( =20)
(1=80)
(=80)
(=80)
(=80)
(1=40)
(1 =40)
(=40)
(1=40)
(=40)
(=40)
(1=40)

0.50
0.55
0.65
0.70
0.75
0.80
0.70
0.65
0.65
0.68
0.65
0.68
0.53
0.68
0.78

,0.68

0.58
0.63
0.73
0.73

()
192.25

256.50
250.20
255.00
211.25
234.00
234.90
218.65
222.15
241.04
223.50
239.69
224.38
252.60
222.63
226.18
221.23
255.75
223.08
226.33

11.20
11.45
10.80
11.25
10.75
11.20
11.45
11.45
11.05
11.34
11.15
11.24
11.33
11.03
10.98
11.45
11.00
11.35
111.10
11.33
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23.10
23.10
21.35
22.75
20.70
23.35
23.15
22.90
22.08
23.18
22.71
22.54
23.40
22.05
22.03
23.03
22.23
23.23
21.93
23.13



(t-test)

(3-way ANOVA)

.05
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5 (t- test)
1 !

( =80) LS ( =80)

M M
1 () 16154 10278 14360  83.33 121
060 049 073 045  -168*

23849 12292 22470 12283 0.71

()
11.18 1.95 11.21 1.72 -0.13
22.73 3.42 22.53 3.49 0.37
n < .05
t
5
J
) (M = 161.54)
) (M = 143.60)
]
(M = 0.60) (M =0.73) a

05 12
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(M = 238.49)
(M = 224.70)

(M =11.18)
(M = 11.21)

(M =22.73)
(M =22.53)

(t-test')



(M= 153.98)

(M = 146.60)

(M = 0.53)

HS
M
153.98
0.53
224.38

11.33
23.40

(=40)

104.02
0.51
137.00

2.03
2.11

S ( =40)
M
146.60  94.02
078 0.42
20263 124.16
1098  2.04
2003 410

(t- test)

0.33
-2.40%
0.06

-0.77
177

(M=0.78)
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2.2

(M= 22.03)

01

(M=224.38)
(M=222.63)
(M = 11.33)
(M = 10.98)
(M =23.40)



]
/

Self - =20 =20

Handicapping L=20) L=20) t ( =20)
M M M
HS 19225 14552 25650 12320 -151 25020  99.23
LS 21125  119.82  234.00 13044 -057 23490  121.20
1
1
(M = 192.25)

(M = 256.50)

31

(M = 255.00)

(t- test)

255.00  116.60

218.65  127.25

(M=250.20)

-0.14

041



(M = 234.00)
(M = 234.90)
(M = 218.65)
4,
(t-test)
8
pinball
H
( =20)
M

192.25 14552

53

(M =211.25)

(t-test)

21125 119.82 -0.45



21.86

22.36

(M = 192.25)
(M =211.25)
J
(t-test)
J
!
LS
t M t
4.21 22.14 4.49
-0.44 0.57
3.23 21.45 3.43
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J
)
| 2!]1.45
22. |
M = |
)
!] 86
M =21 !]
(
2!.]14)
2
M =
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